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Generating Number Patterns Exhibiting An'thmeti@
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Many real-life scenarios can be represented by a pattern of numbers which exhibit (\W"\& N
arithmetic growth. \/é\%>

BP Birthplace Forest program in Calgary enables parents to honour their children by planting

a tree when their child is born. At the same time, this shows concern for the urban

0 environment by encouraging the growth of city forests. Some of the trees which have been

AL planted are evergreen trees which grow an average of 12 to 18 inches per year. The program -t(\ = ot ({\‘\)Q\
S mbm was launched in the year 2000.

Class Ex. #1

a) Anevergreen tree, 6 inches tall was planted in June 2007 and has a growth rate of 15
inches per year. Two students were asked to determine the height of the tree in June

Uo.-- 2018. Joel formed an arithmetic sequence beginning o, 21, 36, ... and Jenna formed an _
6,2 ) arithmetic sequence beginning 21, 36,51 ... . Use the formulas in the previous lesson to 2\, Yo, S\-. -
205y TR ISR dcd;;c.mmc f:h Stu((f TE\?W\C{(T;)C pmb]cmdﬁﬁn&‘ w2\ (WD) o8 2099 20w
OO - \2 " - ==
9-0\‘4"'3""‘ o=b = 13\ nus o =02\ S\ AnOee 200 — \W o
? d=15 d=\S
b) Determine the formula for the gencral |[¢) Determine the formula for the general
wermi of Joel's arithmetic sequence. term of Jenna’s arithmetic sequence.
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d) Explain why the formulas in b) and ¢) are different.
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e) If the tree continues to grow at the same rate, in which year will it reach a height l@ Conuot © \(\Or\&
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Many real-life scenarios can be represented by a pattern of numbers which exhibit
arithmetic decay or arithmetic depreciation.

A printing press was bought in the year 1999. It d<preciaies in value by the same amount

each year. Five years after its purchase, the printing press had a value of $311 000.
It had a scrap value of $2900 in the year 2017. J(‘GS"N (M A & &)

a) Use an arithmetic sequence to determine theannual deEreciauonj. d

Class Ex. #2
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b) Determine thf the printing press.
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Relating Arithmetic Sequences to Linear Functions

) ) ) ) \,, 3. (e -(\re\c_-k\g\;)
We can relate arithmetic sequences to linear functions over the natural nurabers,
Consider the following example:

A pile of bricks is arranged in rows. There are 28 bricks in the first row, and the number
of bricks in each successive row is two more than in the previous row.

Class Ex. #3 a) Complete the table of values b) Plot the ordered pairs on the grid.
£ showing the number of bricks peglassify the relationship as
in each of the first 10 rows. @mv non-linear.
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¢) Determine if the range is an arithmetic sequence.
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d) State the domain of the relationship.
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e) Explain why the graph does not have an intercept on the vertical axis?
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f) Write the equation for the number of bricks in a rew, «2, as a function of the | ¢
row nwnber, r «
) e, r.
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Complete Assignment Questions #1 - #8
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